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1. Ify = (14 ¢e*)% then /(1) =

a) In (1 + e) (correct)

2. The slope of the tangent line to y = (z + 1)(z + 2)? (z + 3)? at z = 0 is equal to

96 (correct)
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d2
3. If 2% + 32 + y* = 4y, then d_xz when z = 0 and y = 0 is equal to

(a) 3—2 (correct)

4. At x = —2 the function f(x) = z%¢® has

(a) a relative maximum (correct)
(b) a relative minimum

(c) an absolute maximum
)

(d

an absolute minimum

(e) neither maximum nor minimum
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5. The absolute maximum of f(z) = over the interval [0, 2] is equal to

2
1
(a) - (correct)
2
(b) 1
© 3
C f—
)
1
(d) =
)
(e) 2
7,
G Mha fanetinn £ — mﬂ,b/,\’.?w tha dndaroal [Q Q1 hag +ho
v 1 11T lulivvivlil g \J./} — &L VUVClL ULLIT 111LT1 val O, UJ 11an uvlil1o
(a) absolute maximum at = 8 and = = —8 (correct)
(b) absolute minimum at x = 8
(c) absolute maximum at z =0
(d) absolute minimum at x = —8 only
(e) absolute maximum at x = —8 only
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1
7. The function f(z) = —° — 32% 4+ 172 + 43 is concave up on the interval

10

(a) (—3,0) U (3,00) —
(b) (—oc,0) U (3,0)

(c) (=3,3)

(d) (=3,00)

(e) (=00, =3)U(0,3)

2+ 1

8. The number of inflection points of the function f(z) = — 5 is equal to
22 _

(correct)

S
=3

o~
o o
= ow NN o= O
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9. At x = —I the function y = (2® + 7z + 10)? has

MASTER

(correct)

(a) a relative maximum
(b) a relative minimum
)

¢) an absolute maximum

(d) an absolute minimum

e) an inflection point

10. At x = 0.25 the function y = —422 + 2z — 8 has

an bsolute maximum

(correct)

(a
(b

)

) a relative minimum
¢) a relative maximum
)
)

(
(d) an absolute minimum

(e) an inflection point
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11. The function f(z) = 13e~" has

a) one horizontal asymptote

MASTER

(correct)

(c) one vertical and one horizontal asymptote

/1

)
(b) one vertical asymptote
)
(d) no asymptotes

(e) one horizontal and one oblique asymptote

12. The slope of the oblique asymptote of

8z +9z+5
o) ===

is equal to

54

| oo N

A~
/o
—_ — — D
|
[N

|
[

—~
D
o

New Section 2 Page 6

(correct)



222, Math 106, Exam II Page 7 of 10 MASTER

13. For a monopolist’s product, the demand function p = 85 — 0.05¢ and the cost
function is ¢ = 600 + 35¢. The maximum profit occurs at the price of

(correct)

14. The maximum volume of an open-top box with a square base constructed from
192 ft2 of material is equal to

(a 256 ft3 (correct)
(
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15. Let f(x) = 237, then by using the differentials £(0.98) ~

(a) 0.94 (correct)
(b) 0.98
(c) 0.90
(d) 0.02
(e) —0.02
16.
/ (6e" —u’(Vu+1)) du=
4
a) be" — gu% _L +C (correct)
9 4
12 o 3u
(b) Geu—guﬁ —%-1—0
2 9 u4
(c) 6e 5% + 1 +

@) buer — 2t + 4 C
(d) bue 9u 1

9 o
(e) 6e" — §u5 — 4t 4+ C
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17.
zt —5r? 4 22 :
_—  —dx =
512

MASTER

(correct)

18. The marginal revenue of a product is

d
& 9000 — 20 — 3¢°.
dq

Then the unit price when producing 30 units p(30) =

(correct)
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/ 5 _ _—
19. If ¢/ = NG and y(9) = 50, then y(16) =
(a) 60 (correct)
(b) 80
(c) 90
1
() 5
(e) 4
20.
/x\/(8 — 52?3 dx =
]. 2 5
(a) —2—5(8 — 5 )2 +C (correct)
]. 2 5
(b) —5(8 — 52%)} 4+ C
1 2 1
(c) 2—5(8—5x )2 +C

L5
(d) 5=(8 = 52%)i +C

[SIFH

() —%(8—53:2) +C
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